00
5-65/16" 5-611/16" 3-8" 4-3" 4-3" 5-611/16" 5-65/16"
8’ 6 6 g o
_;i'_lE B = B ]
w %
. = TS 4X4X11GA. _
& 3 (TYP.) %
: s
o R L3X3X1/4 i
° > (TYP.) °
6" 6" ~ 6" 1
) B Y 1 -
5-65/16" 5-611/16" 4-3" 4-3" 4-3" 4-3" 5-611/16" 5-65/16" &
1T 1T 1T
/ 3\ ROOF RAIL LAYOUT
W SCALE:1/4"=1"-Q"
4" UTILITY CHASE WITH REMOVABLE SMOOTH SURFACE
PLYWOOD ACCESS PANEL W/ CENTER JOINT AND EDGED WITH
1/2" HARDWOOD, PAINTED.
00
176 70" 176
PANEL 'PB'
:Yr |V
0, ,8 Q
3X 6 s 16" ALUM. COUNTER = e
N
DOOR (TYP) TOP —j o
STEP A STEP 5
o & o =4
-i—l 18" ALUM. COUNTER = 40
TOP _| By
)
SLOPED WINDOWS
NOTE:

/ 2\ PLAN VIEW
w SCALE:1/4"=1"-0"
— —])
[ HSS4X4X3/16 — |

“ L3X3X1/4" |
R
I l |
| |12
\‘ “ ‘ Q
1l L] ‘ e —— ,‘
_; —
¢
3-0" 7
© N
o °
2 WI10X12 h
| 10'-0" |
1 C10X15.3
(TYP.)

/ 1\ SIDE VIEW

[
1
W SCALE:1/4"=1"-Q"

PAINT DOORS AND FRAMES

TO MATCH SOBCO 'SLATE GRAY'

1/8" 4 WAY STEEL ROOF-CONTINUOUS

WELDED SEAMS COATED WITH METAL MINI-SPLIT A/C INTERIOR UNIT
WR ELECTRICAL PRIMER & 36 MILS OF WHITE 6"R19 INSULATION CEILING MOUNT BY A/C CONTRACTOR
GFCI OUTLET ELASTOMERIC ROOF COATING ROOF MOVE LIGHT PANEL AT A/C LOCATION |
U R NANAN
J [TearC — / | 26 GAUGE TRIM (TYP)
L L | 7 | (COLORS FROM MBCI
24X 24X 5/8 200 SERIES - 3'+ RIB)
d ACOUSTICAL CEILING TILE — 2X4 EDGELIT LED (SLATE GRAY)
LIGHT PANEL (TYP.)
I

CEE STRUCTURE

ON SLOPE TO PREVENT GLARE

HSS 4" X 4" & 4" X 2" X 14 GA.

WITH METAL PRIMER AFTER WELDING
VERTICAL SLIDE TEMPERED GLASS

ELECTRICAL SUBPANEL W/ 2" —<
STUBOUT THROUGH FLOOR.
METAL CHASE TO FLOOR AND CEILING

/

WALLS:

R15 INSULATION

IN CAVITY WITH
ARMORFLECT WHITE
CONTINUOUS WRAP
INSULATION: R-8 CONT.
1/2" FIBERGLASS

. ANODIZED ALUM. »
H - RE BONDED T
3 COUNTER TOP ~ RCSNFO,S:ED ©
N :
5 s 321/2" 160 3.21/2" Q| SCRIMFACING
Tl ® \ l ©
[Fe)  — .] :C_)
/ "X 2'X 14
T GA STEEL CEE .
o
" " [3p)
N TS4'X4'X11GA \
. 5400 WIRE MOLD | 26 GAUGE "R" PANEL
S| = . WITH CLOSURE STRIPS
o a ]/2 VINYLSURFACEDGYPSUM I_H I H I H T 1T H T 1T H T1°] (COLORS FROM MBC'
NG PANELS GOLD BOND-DURASAN - y
& |~ . 200 SERIES - 1 1/2'¢ RIB)
[SANTA FE-PORCELAIN) I /\ (SLATE GRAY)
4" VINYL COVE BASE e
BRINKMAN-PRO CB-35 (MED. GRAY) N d I~ g?ggh%cgg?éUMlNUM
i M
BASEBOARD 3 U
HEATER (TYP. d %
(TYp) f WI0X12 f |
/ _/ _/ L 3.1/2"R15 INSULATION
26 GAUGE "R" PANEL BELLY PAN HEADER BEAM (BASE) C10X 15.3 (TYP)
WITH CLOSURE STRIPS 10-0"
(COLORS FROM MBCI I
200 SERIES - 1 1/2'¢RIB)
LATE GRAY
ISLATE GRAY) / 4\ SECTION VIEW

EXTERIOR DOORS

DOOR FRAME
CECO, SERIES SU STEEL FRAMES,
5-3/4" X 3' X 6'-8" WITH WOOD/

STUD ANCHORS, 16 GA., HEAVY DUTY,

PRIMER PAINT COAT
DOOR
CECO - HMD CP 18 A0 3068 F BW

13/4" (C1; LC1) POLYSTYRENE INSULATION

PRIMER PAINT COAT
R-11.1 AS CALCULATED
DOOR CLOSURE
NORTON CLP-8501

EXIT DEVICE, YALE 2100
YALE TRIM, YALE 546F 626
THRESHOLD

PEMKO-171 A36, MILL FINISH ALUMINUM

5'X1/2"
DOOR SWEEP-WEATHERSTRIP

NATIONAL GUARD 101VA

W SCALE:3/4"=1'-0"

NOTES:

UL LISTED 10B, EQUAL TO CECO,
STEEL DOOR FRAME ANSI A250.8
-1998, ASTM A366, A620, A568
PRIMER PAINT COAT ANSI A250.10

UL LISTED 10B, EQUAL TO CECO,
STEEL DOOR ANSI A250.8-1998,
ASTM A366, A620, A568

PRIMER PAINT COAT ANSI A250.10

ANSI/BHMA A1564.4 GRADE 1
ANSI/BHMA A156.3 GRADE 1

UL LISTED EQUAL TO HAGER
ADA APPROVED

NOT TO SCALE

1/4 2

1/4

/ COLUMN OR RAIL RISER (TYP)
BASE PLATE (TYP)
1/8" STEEL ROOF PLATE (TYP)

5/8" X 4" GALVANIZED STUD (A36) (TYP)
WELDED ON BOTH SIDES

TYP.

ROOF PLATE STEEL IS WELDED ON BOTH SIDES OF RAFTERS
WITH 1—-1/2" LONG 1/8” FILLET WELDS ON 12" CENTERS.

WALL PANELS ARE ATTACHED WITH #12 TEK SCREWS — 6” O.C.
AT THE TOP AND BOTTOM OF THE PANELS AND 12”7 O.C. AT ANY
INTERMEDIATE BRACE. LAP SCREWS ARE PLACED AT EACH END OF
THE PANELS, AT THE INTERMEDIATE SUPPORTS, AND AT THE MID
POINT BETWEEN SUPPORTS. (TEK #14)

FLOOR PLANK ATTACHED WITH (2)—MILL ALUMINUM HOLD DOWN CLIP
w/ 5/16"X1” CARRIAGE SCREW AND 5/16” FLANGE NUT AT EACH
W10X12. FRONT (END) FLOOR PLANK ATTACHED TO W10X12 WITH
(2)—COUNTERSUNK 2" TEK SCREWS PER END OF PLANK AND AT
INTERMEDIATE SUPPORTS.

'R' PANEL @ FRONT

OF PRESS BOX
ALUM. CLIP
BETWEEN BOLTS (TYP)

ANOD. ALUM.
PRESSBOX BASE COVER
ALUM. PLANK

STRINGER TRIM 1/2" OFF OF BOTTOM

OF COVER

4" X 4" X .120" SQUARE TUBING (TYP)

ROOF RAIL ATTACHMENT

OPTIONAL ROOF RAILING

/"6 “\PRESSBOX BASE TRIM DETAIL

NOT TO SCALE



AutoCAD SHX Text
SCALE:1/4"=1'-0"

AutoCAD SHX Text
7

AutoCAD SHX Text
1

AutoCAD SHX Text
SCALE:3/4"=1'-0"

AutoCAD SHX Text
7

AutoCAD SHX Text
4

AutoCAD SHX Text
SCALE:1/4"=1'-0"

AutoCAD SHX Text
7

AutoCAD SHX Text
3

AutoCAD SHX Text
SCALE:1/4"=1'-0"

AutoCAD SHX Text
7

AutoCAD SHX Text
2

AutoCAD SHX Text
NOT TO SCALE

AutoCAD SHX Text
1/4

AutoCAD SHX Text
1/4

AutoCAD SHX Text
1/4"

AutoCAD SHX Text
2

AutoCAD SHX Text
2

AutoCAD SHX Text
TYP.

AutoCAD SHX Text
1/8"

AutoCAD SHX Text
CAULK AFTER WELDING

AutoCAD SHX Text
NOT TO SCALE

AutoCAD SHX Text
OPTIONAL ROOF RAILING

AutoCAD SHX Text
7

AutoCAD SHX Text
5

AutoCAD SHX Text
7

AutoCAD SHX Text
6

AutoCAD SHX Text
INTERMEDIATE BRACE. LAP SCREWS ARE PLACED AT EACH END OF

AutoCAD SHX Text
THE PANELS, AT THE INTERMEDIATE SUPPORTS, AND AT THE MID

AutoCAD SHX Text
ROOF PLATE STEEL IS WELDED ON BOTH SIDES OF RAFTERS

AutoCAD SHX Text
POINT BETWEEN SUPPORTS. (TEK #14)

AutoCAD SHX Text
WITH 1-1/2" LONG 1/8" FILLET WELDS ON 12" CENTERS.

AutoCAD SHX Text
WALL PANELS ARE ATTACHED WITH #12 TEK SCREWS - 6" O.C.

AutoCAD SHX Text
AT THE TOP AND BOTTOM OF THE PANELS AND 12" O.C. AT ANY

AutoCAD SHX Text
%%UNOTES:

AutoCAD SHX Text
FLOOR PLANK ATTACHED WITH (2)-MILL ALUMINUM HOLD DOWN CLIP 

AutoCAD SHX Text
w/ 5/16"X1" CARRIAGE SCREW AND 5/16" FLANGE NUT AT EACH   

AutoCAD SHX Text
W10X12. FRONT (END) FLOOR PLANK ATTACHED TO W10X12 WITH

AutoCAD SHX Text
(2)-COUNTERSUNK 2" TEK SCREWS PER END OF PLANK AND AT

AutoCAD SHX Text
INTERMEDIATE SUPPORTS.


	Sheets and Views
	Model


